!‘d

(20x1=20)

. e vou are working ae . o hank. Y AVe Toce - -
Suppose ) £as g Manager in 4 bank. You have receiye four applications

for loan disbursement (_'I.IUIII“:\; of which are givﬂl"l in the table hUIHW}_ It other facts are

remain similar, whom you Would proyide loan first so that loan repayment happen on

tme. ‘ ()
Name of applicants | Requireg [ Collateral Old Loan
documeng
Mohan YES [ YES NO
Shyam YES  —|NO YES
Deepak NO NO YES
Vinod NO T [NO NO
(a)/ Mohan (b) Shyam
(c) Deepak (d) Vinod
Who among the following proclaimed 'dams as temples of modern India'? (1)
(a) Mahatma Gandhi \Lb)/ Pandit Jawahar Lal Nehru

(¢c) Sardar Vallabh Bhai Patel ~ (d) Lal Bahadur Shastri

d sector. State which of the following facilities she will

(1)

Mrs. Poonam works in organize

enjoy?
1.  Regular wages

2. Paid leaves

3. <Job insecuritics

e —

(@) Onlyl

(b) Only2

\_}‘ﬁ/ Only 1 and 2

(c) Only1and3

|wqAF DAY A F N es s esme— -
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4. I 1s the major Source of protein in vegetarian food. (1)
(a) Bajra (b) Wheal
(c) Rice _(dy” Pulsc

5. To calculate the average incopy, of a country, total income of the country is divided by

which of the following? (1)

(@) “" Total population of the Counry

(b) Halt of the population of (., country

(c) Earning population of the country

(d) Adult population of the country

6.  While teaching 1n a class, Mrs. Neery was told by her student that both her father and
mother worked in a factory. Afier returning from factory, her parents share the
responsibility equally and before taking any decision they discuss with everyone in the

family. State what does the above example shows? (1)
(a) Discrimination on the basis of religion
(b) Discrimination on the basis of gender

;\{/c)/ ‘Equality on the basis of gender

(d)  Equality on the basis of religion

7. Identify the name of Prussian king who was proclaimed German Emperor in a ceremony

held at Versailles. (1)
(a) William | ] William II
(c) HenryIV (d) Louis VI

8. Which among the following is an example/s of Tiger reserve project i“,ln‘iif? (1)
1. Manas Tiger Reserve | 2. Periyar Tiger .Rﬂﬁﬂﬁ'ﬂ

3. Corbett National Park

(@) Only 1 and 2 (b)  Only2and3

(d)  All1,2and3

(¢)  Only 1 and 3 5 X-SOCIAL SCIENCE-M
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9. Choose the Incorrect option.

(D

"/ s \; "y by )
(a) 'Vande Mataram' wyg Wrilten by Bankim Chandra C]ml!upmlhyny_

o

F
5y Mahatma Gandhi le - | |
_Ab) M Gandhi led (e movement for Indigo planters in Champaran

- he book named 'H; | |
@ Tl ned 'Hing Swaraj' was published by Pandit Jawahar Lal Nehru.

(d) A collection of Tamij] folk tales, 'The Folklore of Souther India’ was published by

Natesa Sastri.

Q.DMMCH the following and Chogge the correct option. (1)
Column-A T Column - B
a Central List 1 | Education
b State List _hh““?'f[_ Defenc‘c

— 7
¢ | Concurrent List /{1l |Trade and Commerce

—————

—

e

—\—-_————-_'_._._-_

\
(a) a1, b1l c-lI (b) Il b-1, c-III
(c) alllb-I,c-1TI (d) a-II, b-1II, c-1
- e B
I1. |Select the correct chronology of the following events from the given options - (1)

I.  Publication of weekly magazine Bengal Gazette by James Augustus Hickey.
2. Publication of Samvad Kaumudi by Raja Rammohan Roy.
3.  Publication of Persian newspaper Jam_-e-jahan.

4. First printed edition of Ramcharitmanas.

Option:
(ﬂ) 1, 2} 31 4 (b) 4: 3& 23 1 |
© 3,241 @ .1423
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12, In which of the thllmviu;.

water harvesting fora oy i

a) Meghalaya
& () Rajasthan

()  Punjab

13, In a country only two pargie
policies and programs of h-mh the
parties Dl'__thiﬁ country l'uciug'L

Lack of meaningfuy] choice

(b)  Lack ol internal {lumum-;m},

(c) Dynastic succession

(d) Increasing number of muscle power

14.  Which onc of the following mineral is contained in the Monazite sand?

—

(a) Mineral oil (b)

I
A

(¢)  Thorium (d) Coal

Uranium

I5.  Identify the type of soil on the basis of following characteristics:

1. This soil are found in the hilly and mountainous areas.

N FTT tew Tl ‘
Hes, bamboo dip ngation systeny Ly heen

Ptticipage in elections for power, There i

I

wd for rinmn

(1)

stmilarity in the

. i Jr " . ] .
Partics. State what kind of challenges are the political

(1)

(1)

(1)

2 The soil texture varies according to the mountain environment where it is formed.

3. This fertile is soils found in the lower parts of the valleys particularly on the river

terraces and alluvial fans.

(a) Black Soil (b)  Forest Soil
(c) ~ Laterite Soil (d)  Arid Soil
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|6. Whichamong the following is Nog helpful in increasing the globalization? (1)
(a) [nformation and Commupjcation Technology
(b) Liberalisation
(c) Transportation 'I‘u:{.:hnumgy
\}9 ~ Imposing trade barrier
7. The two statements are given below Agsertion (A) and Reason (R). Read the statements

and choose the correct option: (1)

. « [) M . .
Assertion (A) : Power sharing among people strengthen the democracy:.

Reason (R) : One basic principle of democracy is that people are the source of all

pn!itical pD\‘;'EF.
Option :

(a) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct

explanation of Assertion (A),
Jb,/ Both Assertion (A) and Reason (R) are true but Reason (R) is not the correct
explanation of Assertion (A).
(c) Assertion (A) is correct and Reason (R) is incorrect.
(d) Assertion (A) is incorrect but Reason (R) 1s correct.

Assertion (A) and Reason (R). Read the statements
(1)

(8 The two statements arc given below

and choose the correct option:

Assertion (A) : A crisis in the economy of a one country also impacts the other country.

Reason (R) : Globalization has interconnected the economy of the countries.

Option :

\/Lﬂj/ Both Assertion (A)
explanation of Assertion (A):
) and Reasofl (R) are true but Reason (R) is not the correct

and Reason (R) are true and Reason (R) is the correct

(b) Both Assertion (A

explanation of Assertion
crect and Red>on (R) is incorrect.

(A).

(c) Assertion (A) 1S CO

eas :
(d)  Assertion (A) is incorrect but Reason (R) is correct.
1 | X-SOCIAL SCIENCE-M
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19,

The two statements

N below Assertion (A) and Reason (R), Read the statements

and choose the corregy Option.

(1)

Assertion (A) 2 Tea is ap ;
gl 'Mportap plantation crop.

ason (R) & There jg
Reason (R) : There is no ]1rmluuliun of Tea in India
‘ L ]

Option :

a)  Both Assertion :
(a) (A) and Reason (R) are true and Reason (R) is the correct

explanation of Assertjop, (A)

th Asserti
(b) Both crtion (A) and Reason (R) are true but Reason (R) is not the correct

explanation of Assertion (A).

AC) Assertion (A) is correct ang Reason (R) is incorrect.

(d)  Assertion (A) is incorrect but Reason (R) is correct.

The two statements are given below Assertion (A) and Reason (R). Read the statements

and choose the correct option: | (1)

Assertion (A) : The oldest book of Japan, The Diamond Sutra was published in 868 AD.

Reason (R) : Johann Gutenberg was a French traveler.

Option :

(a) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct
explanation of Assertion (A).

(b) Both Assertion (A) and Reason (R) are true but Reason (R) is not the correct

explanation of Assertion (A).

\E)/Ptssertinn (A) is correct and Reason (R) is incorrect.

ect but Reason (R) is correct.

(d) Assertion (A) is IncoIT
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(4x2=8)

ontion the role of food ma. o o E— 2
Men Haterialy i (he cultural exchange, ()
Explain through exq ” , (2)
f - rlTI] Yy R T . S5 .} e
n, @ Ples why power sharing is necessary?
> .
=y HI{'}{
OR

(b) 'Not providing power sharing 1eads a country towards civil war. Justify the

statement with the help of specig| example of Sri Lanka.

| ISi ' ' i ‘ ' ar state.(2
3. Mention those provisions of Indian Copgtjtution which establish India as @ secular state.(2)

A\

: 2
54 Write the names of any two minerals uged in your daily life. (2)
. - ODene— M sttt
Ny MU pL.,UW o
SECTION-C (Short Answer Type Questions)
(5x3=15)
95 Write a brief note on the functioning of Self Help Group. (3)
s necessary for the production of rice. , (3)

26. (a) Describe the gfmgraphical condition

OR
(b) Describe the geographical conditions necessary for the production of wheat.

. '
ible and legitimate governance system.
i ccountable, responsi _
27.  'Democracy establishes an 2

3)
Analyze the statement,
| | i (3)
28, Review the increasing role of tertia® sector in production.
(3)

29, Evaluate the role of print cylture in the French Revolution.
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SECTION.
ON-D (Long Answer Type Questions) ‘

(4x5=20)

0. () Explain the role of folk . . .
o]k lales, songs, pictures and symbols in the Indian

independence mov

Cment. l
.ﬂ" _f.J. ) 1|- (5)
[I-.'\LI J o -
" CRAME "
."]‘-.'L b ol 1..}”" \ o4 '
y}*? - #)iry r\l‘\ isl ‘1 Ir...-"- Ol{ - H__.-____________r____u

/7 - qll_“ ={I %
- — T\*\ﬁ* -.’lq."' m

Explain the cent 1 clén .
kjb) P ral elements of the various movements led by Mahatma Gandhi.

. eorganizat; * :
|. (a) Reorg lon of states op the basis of language was the first challenge of

nocratic 1a." Crit; + :
der India. Critically review the statement on the basis of success of

linguistic states.

(3)

OR

(b) Mention those provisions of the Indian Constitution which establish the Indian

system of governance as a federal system?

—

32. (a) Mention some measures for land conservation. (5)

OR

(b) Describe the need of sustainable development.

33. (;1,) v Examine the functions of the Reserve Bank of India. , (5)
L /' ~

OR

(b)  The rural sector is still dependent on the informal sector for credit. Examine the

statement.
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e IU\ :
E (Case Based Questions)

- (3x4=12)
RL‘-‘-'J the PASSIEC givey hl:lm
Vo

U . ‘ .
Nswer the following questions. (1+142-4)

. » know .
what we Know today 4 Ger
lany . o W i 3 ,
ies and cantons \\“\Ilﬂ]}' and Switzerland were divided into kingdoms,
duchies and ¢ Whoge | e —
Crs k- : .
had their autonomous territories. Eastern and Central

» were under g
Furope ¥ Ulocratje
in
"y Narchies within the territories of which lived diverse
peaples: They did not ggq themse)
& Ve

\ 5
%S as sharing a collective identity or a common

;,I“Uﬂ. O"ﬂﬂ thE} even 5I1 l\L dlf'f‘
=

rent languages and belonged to different ethnic
groups. The Habsburg Empire thy fuled .
cd OV

L

er Austna-Hung:axy, for example, was a

atchwork of many diffe
p "eNt regions gng peoples. It included the Alpine regions- The

Tyrol, Austria and the Su -
— % well as Bohemia, Where the aristocracy was

predominantly Gcrman-speaking It also Included

SA——. — e uded the Italian-speaking provinces of

Lombardy and Venetia. :
Y r_}“ Hungary, half of the population 5puke_h_rigg_}iar while the other

Half spoke a variety of dialects. [p Galicia, the aristocracy spoke Polish. Besides these
three dominant groups, there also lived within The boundaries of the empire, a mass of
subject peasant peoples - Bohemians and Slovaks to the north. Slovenes in Camiola

Croats To the south, and Roumans to the east in Transylvania. Such differences did not

casily promote a sense of political unlty The only tie binding these diverse groups

-‘-I_--_-_ I

together was a common allegiance to the emperor.

34.1  What do you understand by absolute monarchy? (1)
34.2° In which region was Magyar spoken? (1)
343 What factors help in prumnling the sense of collective identity? (2)
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| he PASSARE given by
Red

Il\\\

ol ~ountt 10N, POwWe

[ SO N

wist contesteleetjoy

.1\ 'h "'I'"l. | 1 .
" (1es h | WIn g few seats, In the nation:
y .” '['l” [1-.“ . 11‘\ ¢ | '\ul lu“
Wi = - N
| H“‘m ]1‘““30 Oof winning majoriy of scils

e

W L) [1
— '”H system,
ul Nnu.ium are H‘“"I‘lu — S

SVS .
el @ AN lll\ ‘h wem g 0 IH
:\“L e —

l'.ul!
than two partie
uhi more Partiey has
[1"“"1”1 or
'I.""l-

l X 111l11“[1t1n\ iﬂ' ""'h-n'l
R A

alhance
owl

ning pecther in a co;
cofilitis o ®

for the purpose of contesting ¢

| , : -y
hd answer the followmg que shions,

(1+1424)

L] . b W w LTRTE ] i l & { 5 =
Y Chanpes between (wo i parties. Several other parties
1 legislatures, But only the

(o form government.

The lJnnuI ‘*ﬂ ltu ol ;\nwm : .uui The

e ———

el
I h"“ “pany "“*“'“‘”J I wr.,".t.hl[ Al ites comj ¢l

Vith Others, we call it a multiparty system. Thus n India,

N thic T .
1 thig SVstem, the government 1s formed by vari

for power,

. 'Casonable chance ol coming to power cither on their

wce

fous parties

ity
RO When geveral partics in a multi-party systeim join hands

lections and winning power, 1t 18 called an alliance or

ﬁ-pl][.
- = I r[ i : Se 1< TN . s -5
35.1 Two party Systemis prevalen iy, United States of America. Comment. (1)
13,2 Explain multiparty system. (1)
353 According 1o you which lype of party system would be better for India and
why? (2)
Read the table given below and answer the following questions. (1+1+2-4)
TABLE: SOME COMPARATIVE DATA ON HARYANA, KERALA AND BIHAR
' State Per Capita | Infant Motality | Literacy Rate % | Net  Attendance
| [ncome For ! Rate per 1.000 | (2017-18) Ratio (2017-18)
| 2018-19 (in Rs) | Live births
| (2018)
; Haryana 236147 30 82 61
Kerala 204105 7 94 83
| - s i
| Bihar 40982 32 62 43
L — -
Source: Economic Swrvey 2020-21. P.A 29, P.A 157, National Sumph. Survey
Organisation (Report No. 583), National statistical office, Government of India.
e mer capita i 9.
36.1 Which state has the highest per capita ncome: (1)
362 Based on statistics. which state 18 likely to have the best health facilities? (1)
(2)

36.3 Explain net attendance ratio-
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